GRADING KEY -- HS 67 Exam 2—November 13, 2008 -- CONFIDENTIAL

Student name: ___________________________    Points missed: __________

1) Sickle cell study [8 + 2 free]
a) __  Hydoxyurea treatment (or placebo)
b) __  Number of pain episodes
c) __  Experimental


__  Treatment was assigned by study protocol (randomly)  

d) __ 299 
e) __ 277 
f) __ Double blinding 

__ Prevents investigator from swaying (biasing) results in certain direction 
2)  Safety survey [4 + 1 free]
a) __ The college (source of the sample)
b) __ The 15 students interviewed
c) __ Convenience sample 
d) __ Sampling bias, favors particular outcome  
3)  Experimental design [4 + 1 free]
                                 Group 1  (n = 3) (     No dietary intervention \  

RANDOM        /                                                                                    Weight 
ALLOCATION \                                                                                    Change
                           Group 2  (n = 3) (   Low sugar diet -----------------/

__ “Random allocation”


__ Group sample sizes

__ Interventions (none, low sugar) described 

__ Outcome (“weight change”) described 
a) Blood Types [4 + 1 free]
b) __ DISCRETE

c) __ .04

d) __ .56

e) __ 1 – 45 = .55
4) Birth weight [8 + 2 free]
a) __ Demonstrates understanding of X~N(7.5, 1.0) and that we want to know Pr(X ≤  7.4) 

__ z = (7.4 – 7.5) / 1 = -0.1 

__ Pr(Z ≤  -0.1) = 0.4602
b) __ 
[image: image1.wmf]x

~N(7.5, 1/√100) 
c) __  Demonstrates and understanding that we want to know Pr(
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 ≤  7.4) 


__ z = (7.4 – 7.5) / 0.1 = -1.0

__ Pr(Z ≤  -1.0) = 0.1587 (16% OK)
d)
__ H0: μ = 7.5 vs. Ha: μ < 7.5 (must reference μ, not x-bar!)
5) IQ scores

	a) __ one point for single stem values
__ second point for split stem (see right)


__ good leaves

b) 
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 = 103


__ Use z* = 2.576


__ Use 
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(OK to call this a SE)

__  103 ± (2.76)(5) = 103 ± 12.88


__  (90.12 – 115.88)

c) __ No, not significantly different. 115 is in the 99% CI
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